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Incompressible
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are balanced

Each piston moves a distance dx and dx so the

corresponding displaced volumes are
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the definition of
incompressible

Dividing by dt we obtain A e Dff A



So decreasing area will increase velocity This
is how whistling works
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Finally note that force per area is fixed
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demo holey water bottle

These pressure relations are exploited by a barometer

to measure air pressure
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For pair I atm 101325 Pa and Swater 1km
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Buoyancy

Consider a box in fluid
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For an object to float requires i
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BernoulliEguation area A
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fluid displaced forward

work DW Fdx P Adx Pdv
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Now consider displacement of fluid in a pipe
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Meanwhile the change in energy is
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Equating work and energy we find
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